=} [1/GeV]

3

G‘—O‘IIU

1
d3d
[ERY
S

Ratio to ATLAS

o {ptT’l cdot

[HEN
<
IS

107°

[EEY

0.5

13000 GeV pp t
| - | ' T ' | : I ' | ' | ! | |2
C
| top 1o
P_" (ATLAS tthar) o
T =
—  m ATLAS =S
— —— Pythia 8.308 default Jn
— —&— Pythia 8.308 default-noFsr 19
| —&— Pythia 8.308 default-noRap | ;
— 1o
=
L e
- g
- 1M
@
B —Jm
©
B — O
(90)
—i
L 1=
X
G,
L — =
— — O
— 1€
B — @
- -1 ©
[%2]
— e
B | o
(&)
| | | | | | | | | S
I I ' ' ' I ' ' =
= —2
— 1
- - i
B // 05
| ] ] ] 1 . l . 1 L * l
0 500 1000



	Contents
	Page 1


